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Divided by 10
i instead of 100.

360 | 36

Gloria is comrect.
Tem

mm x 10 = 10mm =

cm spare

Divided by 10
70 | 97 | instead of 100

4400 40 | 45

Divided by 100
instead of 10
6a. Shaun is correct. 1,000mm = 1m.
100mm = 0.1m

8.100| 810 | 81

7a.No. 1cm needed

Divided by 100
instead of 10

Divided by 10
instead of 100

Divided by 10
1,060 106 | 1.06 | Divided by 10

501 [ 901 [0501

5,034 503.4| 5.034

Divided by 10
10| 501 | s.01 | Phvided by 10

9a. Bl is conect because a metre is
1,000mm. For example; f you converied

/000mm into m by dividing by 1,000 t
would equal Im whereas muliplying
would equal 100,000m, which cannot be
conrect as 1m = 1,000mm.
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Metric Units

Ta. Finn needs fo it seven 10cm books
info his bookcase.

o08m

Wil the books it?
How many cm are spare/needed?

2a.Sulya is converting cm fo m in the.
fable below.

50 os
10 n
360 N

Explain and correct her mistakes.

3. Gloria and Andy are converling
millmetes fo cenfimetres.

‘One cenfimete s 10 fimes
bigger than one milimehe.
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4a. Holly needs fo fit seven 12cm boxes.
on this shelf.

Wil the boxes fif?
How many cm are spare/needed?

‘5. Amelia s converting millmetres fo
‘cenfimetres and mefres using the fable

below.
700 o 7
44600 40 as
8100 8 a1

Explain and correct her mistakes.

‘80 Shaun and Sarah are converling
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7a. Mason wans fo it eight 3.2cm books.

‘and six 0.cm magazines on his
windowsil.
Sm

Wil the books and magazines fit?
How many cm are spare/needed?

80. Garreft is converiing millmetres fo
cenfimetres and mefres using the fable
below.

506 506

01 0.1

1,060 106

5034 5034 503

9010 01 901
Explain and comect his mistakes.

9a. Miley and Bily are converting





